
Spare parts manmul 
Turbofan blower 

 

KF-300C 
 

 

 

 

 

 

 
Shouguang Nake Garden Machinery Co., Ltd 



 

TO THE CUSTOMER 

 

THE PART NUMBERS IN THIS PARTS CATALOG WERE CORRECT AT THE 

TIME THIS CATALOG WAS PUBLISHED.  

IT IS OUR POLICY TO CONSTANTLY IMPROVE OUR MACHINES, 

THEREFORE, PART NUMBERS MAY CHANGE WHEN ORDERING PARTS. 

VERIFY PART NUMBERS THROUGH YOUR DEALER. 

 

 

 

 

 



 1 

Catalogue 

 

Assembly ................................................................................................................... 2 

Frame assembly ......................................................................................................... 3 

Air outlet assembly .................................................................................................... 5 

Fan barrel assembly.................................................................................................... 7 

Soft connection assembly ........................................................................................... 8 

Assembly Breakdown Drawing .................................................................................. 9 

 

 

 

 



Spare parts manmul 
 

 

Assembly 

 

 

Number Part name Part code quantity Remark 

1 Frame assembly N85-2983 1   

2 Air outlet assembly N80-3333 1   

3 Fan barrel assembly N62-3652 1   

4 Soft connection assembly N60-2845 1   

5 Fuel tank N85-5122 1   

6 Tire N76-3544 2 18×8.5-8 

 

 

 



Spare parts manmul 
 

 

Frame assembly 

(KWFJ00100) 

 

 

Number Part name Part code quantity Remark 

1 Frame N80-3567 2   

2 Nut N95-5128 2 M10 

Washer N87-7735 1 10 

3 Battery box N95-9988 1   

4 Part 1 N90-3113 2   

5 Pin N52-5933 1 16 

6 Part 2 N82-6202     

7 Pin N52-7265 4 20 

8 Part 3 N21-3412 1   



Spare parts manmul 
 

 

9 Part 4 N57-3021 2   

10 Bolt N90-3737 2 M12 

Nut N85-8680 2 M12 

Washer N82-8077 2 12 

11 Bolt N80-7695 4 M10 

Nut N66-5362 4 M10 

Washer N70-3375 4 12 

12 Bolt N60-6157 4 M12 

Nut N87-5086 4 M12 

Washer N25-8606 4 12 

13 Part 5 N36-5715 2   

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Spare parts manmul 
 

 

Air outlet assembly 

（KWFJ00200） 

 

 

 

 

Number Part name Part code quantity Remark 

1 Air outlet N87-8830 1   

2 Socket head bolt N66-5092 1 M10 

3 Bolt N72-8689 8 M8 

Nut N87-7024 8 M8 

Washer N25-5234 8 8 

4 Fixed plate N66-3538 4   

5 Pulley1 N60-2272 1   



Spare parts manmul 
 

 

 

 

 

 

 

Number Part name Part code quantity Remark 

1 Moter N75-5464 1   

2 Pulley2 N96-5770 1   

3 Belt N87-7996 1 A1549 

4 Pulley1 N95-5602 1   

 

 

 

 

 

1

 

B

B 

2

 

BB 

4

 

BB 
3

 

BB 



Spare parts manmul 
 

 

Fan barrel assembly 

（KWFJ00300） 

 

Number Part name Part code quantity Remark 

1 Outer cylinder N90-6921 1   

2 Bolt N96-5770 1 M16 

Flat washer N87-7996 1 16 

3 Fixed plate N95-5602 1   

4 Bearing N78-9650 2 6205-2rs 

5 Inner cylinder N88-9829 1   

6 Fan blade N87-1591 20   

7 Fan blade 1 N96-6961 25   

8 Fan blade 

Base 

N72-5842 1   

9 Screw N25-8486 1 M36 

Flat washer N66-3385 1 36 

10 Shaft N85-1996 1   



Spare parts manmul 
 

 

Soft connection assembly 

(KWFJ00400) 

 

Number Part name Part code quantity Remark 

1 Flange N76-8218 1   

2 Bolt N62-8716 1 M16 

Screw N66-4873 1 M16 

3 Soft 

connection 

N66-1978 1   

4 Flange N36-9375 1   

 

 

 

 

 

 

 



Spare parts manmul 
 

 

Assembly Breakdown Drawing 

 

Number Part name Part code quantity Remark 

1 Tire N97-1057 2 18×8.5-8 

2 Air outlet N36-8358 1   

3 Pulley1 N96-7735 1   

4 Fixed plate N96-1477 4   

5 Fan barrel 

assembly 

N65-2911 1   

6 Shell cover N66-7996 1   

7 Soft connection 

assembly 

N96-9829 1   

8 Shield N90-5103 1   

9 Engine N80-6336 1 LC2V80F 

10 Battery N96-7237 1   

11 Fuel tank N85-4681 1   

 



Spare parts manmul 
 

 

 

 

 

 

 

 

 

 

HTTP://WWW.SDNAKI.COM 

 

 

 

 

Shouguang Nake Garden Machinery Co., Ltd 

Add：Northside Of The Road, 200 Meters West From Intersection Of Weigao Road 

And West Second Ring Road, Shandong, China 

 

 

E-mail:mhgolfcar@163.com                nakigolf1@gmail.com   


